. 7.7 Solving Inequalities Using Multiplication or Division
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SOLVING INEQUALITIES USING MULTIPLICATION AND DIVISION ' A
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EXAMPLE 1->Solve an Inequality Using Multiplication
Solve the inequality. Graph the solution.
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EXAMPLE 2->Solve an Inequality Using Division
Solve the inequality. Graph the solution.
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EXAMPLE 3->Real Life Application
1)A one-way bus ride costs $1.75. A 30-day bus pass cost $42.

a)Write and solve an inequality to find the least number of one-way
rides you must take for the 30-day pass to be a better deal.

V. AS - T~ VW Yew AeedTo
-“m - -
A \qS S(Q'\&Q WL e 'Q_Qy@;-

[ ] [ )
=~ LW Y e XAt
. N . AR o Y A\ ;

b} You ride the bus an average of 20 times each month. v ¢ TN PoSS
Is the pass a better deal? Explain
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2)The sign shows the toll for driving on Alligator Alley. Write and solve an inequality to
represent the number of times someone can drive on Alligator Alley with $15.
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